AxEB 2013/09/03

AEESR ZL &
HHEEH EFEFLF
=P 20130901

HHEHEE (ke] 0.826
A EEE (7] 1800

-3 5T eERE [Ba/ke]l HBHEIhT

Cs—1345TRERE [Ba/kg]l HHESNhT( <3.65)

Cs-137i5¢aERE [Ba/ke] BHENIT( <3.78)
2CsisTaERE [Ba/ke]l BHEINT( <5.25)

XBHINTOFESERORETBRHBREZRTLTVET.,
BRHEBERELS. 290 THBENATVET .

[1-131] [Cs-134] [Cs—-137]
TOTAL [counts] BHEEhT REEhT BHINT
BASE [counts] BHEhT BHEhT BREEIT
NET [counts] BHEhT BHELT BHEhT
ERROR[counts] BHEAT BHEEAT BHEAT
1M+
100k
E 10k-
i
e
ilha 1k'

/ e

100- ",

Feuzl

700 800

) WMWMWWW% ’ N
W

0 100 200 300 400 500 600

900

1000



AxEB 2013/09/03

AEES ZLE

HEAWH WW=TE-8 TFL—X
=g 20130810

HHEE kel 0.99
Al ERE (7] 1800

1-131/ 5188 R & [Ba/ke]
Cs—134 5T RER = [Ba/ke]
Cs-137i%5¥RER & [Ba/kel

20sR5TRERE [Ba/kel

RiEhT

BRHEhT( <3.06)
Brshd( <3.18)
BRiiehd( <4.41)

XRHEShTOFESHAOREZRHBREETRLTVET,

RHERAMEES. 290 THMEATLET,

[1-131] [Cs—-134] [Cs-137]
TOTAL [counts] BEEEhT BREEIT BHEhT
BASE[counts] BREEnT gREhd BHEAT
NET [counts] B Ehd BHENT BHEILhT
ERROR [counts] BEEAT BHENT BEEAT
1M
100k-
e
O 10k
!
e
e 1k

A

100-

104

MNNQ

My

WWMWWWWWWNMWW«

i

0 100

200 300

400 500
Feorl

600

700 800

900

1000



AEH
AlEEL
HHEE%
34k
HAHEE kel
B ERRRE (7]

1-131 1% 5 BB B [Ba/ke]
Cs—134/&R 51 kR A [Ba/ke]
Cs—137 5t kiR E [Ba/ke]

2CsHatRER E [Ba/ke]
KRHEEATOFREEEROREIRHBREZRLTVET,
BUBREEFS. 90 CHESATLETS,

TOTAL [counts]
BASE [counts]
NET [counts]
ERROR [counts]

2013/09/03
fEL &

Loptng s v—

20130826
0.792
1800

[1-131]

gAY
Bgeh?
BRI
BRHIhY

BiEhy

BHShT( <374)
gEhd( <3.56)
BREENT( <5.16)

[Cs-134]

BHELT
BHishy
gizshy
BT

[Cs-137]

BHEIAT
BrHEhY
Biiehd
BRHEhT

1M+

100k-

10k-

Hfdlc]

1k

100-

10

P,

“Ww,ﬁ%

i
\'\W‘Wﬂwwwm Wl qﬁm &\

0

100 200 300

400 500

Feorl

700 800

200 1000



